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I. Circle the correct answer:

1. What did people use to travel in the past?
a) The train;
b) The cart;
c) The horse;
d) Metro;
€) Others .

2. The fastest mean of transportation is:

a) The ferry;

b) The tram;

c) The plane;

d) The high-speed train (TGV);

€) Other .

[I.  Complete the text with the correct words written in brackets:

Aurel Vlaicu was a ...oeereernseenns and a Romanian ... 1 DO he built his first
glider, and in......ccoeeeee. he bulit his first plane named Vlaicu L. In............ he built his second plane Vlaicu

II and tried to fly oVer the .......cccccoviiiiiiien v e

(1908, engineer, inventor, 1912, Carpathian Mountins, 1909)

I11. Problem

Abiker is driving on Aurel Vlaicu Street in Cluj-Napoca. It leaves from OMV Marasti at 14:20
and arrives at Expo Transilvania at 14:35.
Follow the map below and calculate:
a) Travel time:
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c) The average speed:

Expo Transilvania

Strada Aurel Vlaicu Q

OMV Marasti

Q

Centrul Medical Marasti

2300 m,



